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(®) He must have a bee in his bonnet. He has a bit problem in his mind
© He must have a bit unnatural in his brain ® He is little bit unconscious in his mind
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14. The student in the class room stood up to greet their teacher . In this sentence the underline part
iS____
® a clause an adjective phrase © an adverbial phrase ® subordinate clause
15. which of the following is the most appropriate translated form (question no.8-9)? ®
(®) He must have a bee in his bonnet. He has a bit problem in his mind .
© He must have a bit unnatural in his brain. ®© He is little bit unconscious in his mind.
16. Choose the correct application to phrase 'sine die': @

® The university was closed sine die on account of the student's rioting .

The university students got angry on account of sine die of apasserby.

© The university students went to Dhaka with a sine die to console their sick friend

® The university students sine die for a field work in a rural area and experienced a lot of things.

17. choose the phrase that best keeps the meaning of the original sentence . With cos threatening to get out ©
of hand . A ceiling was placed on expenditures in all departments.

® To have a heart attack To lose courage © To fall in love ® To lose passion
18. In English grammar, which one deals with the meaning of words and sentences ? ©
® Morphology Etymology © Syntax © Semantics
19. Transplanting organs such hearts and kidneys has proved easier than transplanting muscles.
® Transplanting such © proved ® muscles.
20. Select the pair that best expresses a relationship similar to the one expressed in question pair : JUST : @
ARBITRARY::
(® ORDER :CHAOS (®) BARE : CLOTHED © HOPE : SURPRISE ® PROPER : IMPROPER
21. choose the correct sentence form the following : @
® You have achieved much more than expected. You achieved much more than expected .
© You have achieved much than what we expected. ® You have achieved more than what we expected.
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22. Choose the correct speech from the following Option: The Daily star says that it will publish an article on @
causes of cancer in their Thursday 's paper

® The Daily star says that it will publish an article on causes of cancer in their Thursday's paper
The Daily star says that they will publish an article on causes of cancer in their Thursday's paper.
© The Daily star said that it will publish an article on causes of cancer in its Thursday's paper.

® The Daily Star says that it will publish an article on causes of cancer in its Thursday's paper .

23. choose the correct form of passive voice from the following options: Why haven't they allowed you to go?

® Why you haven't been allowed to go? Why haven't you been allowed to go?
© Why were you not allowed going ? © Why you were not been allowed to go?
24. Choose an appropriate tag question of the following: Nobody called. ©
®) do they ? didn't they ? did they? © did they? © don't they?
25. The free trade area comprising Argentina, Brazil , Paraguay, Uruguay and Venezuela is called .
® CAFTA COMECON © MERCOSUR ® SACU
26. The first population census of Bangladesh was held in: @
® 1972 1973 © 1974 © 1975
27. How many targets have been adopted nuder the 17 Sustainable Development Goals for transforming the @
world by 2030?
® 169 179 © 189 © 199
28. chhiattorer Monnontor, the great Bengal famine, was occurred in the year of :
® 1076 1176 © 1276 © 1376
29. Guantanamo prison is located at: ®
® Cuba Iraq © ux ® UsA
30. which of he following treaties provided for a common currency for the member countries of Bangladesh ©

was a part of Agsam?

®) Habiganj Moulvibazar © Sunamgani © Sylhet
31. which one of the following rivers was originated in Tibet? ®
® Brahmaputra Meghna © Padma ® Surma
32. Nobel Prize 2017 in Economics was award to Richard H. Theiler for his contribution to : @
(®) Behavioral Economics Business Economics © Development Economics (© Health Economics
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33. In case of email , what is the elaboration of cc? (A)

® carbon copy carbon circuit © close content ® close contact
34. World Teachers Day is observed on: ©
@ sth July 5th August © 5th september ® 5th October
35. What is the position of Bangladesh according to Ease of Doing Business index 20167 ®
® 171 174 © 176 © 177
36. Which of the following countries is closely involved in Brexit? @
® Belgium The Netherlands © Sweden © United Kingdom
37. Which country has taken 'One Belt. One Road ' Initiative? @
®) China Japan © south Korea ® Thailand
38. Who issues Special Drawing Rights from the following? ©
@ Asian Develpment Bank International Bank for Reconstruction and Development
© International Monetary fund ®© world Trade Organization

39. One copy machine can make 20 copies a minute , and a second copy machine makes 15 copies a minute. If @
the two copiers work together, how long would it take them to make 2100 copies?

® 60 minutes 105 minutes © 122 minutes ® 140 minutes

40. current age ratio of father and son is 7:2 After 5 years, their age ratio will be 8:3 what is the corrent age @
of father?

® 20 ® 25 © 30 ® 35

41. The measure of the side of a square is tripled. If x represents the perimeter of the original square , what @
is the value of the new perimeter?

® 3x 4x © 9x ® 12x
42. what is the circumference radius of a triangle whose sides are 7,24 and 25 respectively?
® 11.0 12.5 © 15.0 ® 17.0
43. If Mr. Rahim receives BDT 1500 as a profit from an investment which was made 5 years ago. If the rate ©

was 6% per annum. then what was the amount of investment?

® 3,000 4,000 © 5,000 ® 6,000

44. The length ofa rectangle is 4 times its width. The rectangle is covered with 216 pieces of blocks each
having an area of 1.5 sq. com. What is the length of the rectangle?
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® 27 ® 36 © 45 ®© 54

45, The Value Added Tax of retail sales is 5% If a customer pays BDT 150 VAT. then what is the value of ©
hiher total shopping bill ?
® 1,500 1,800 © 3,000 ® 4,500

46. A box in the university bookstore contains books and each book in the box is a History book. an English ©
book or a and one -sixth are English books, what fraction of the books are Science books?

® 1/3 2/3 © 1/2 © 3/4
47, "If 32 students in a class are female and in the class, the ratio of female students to male students is
16vhat percentage of the class is female?
® “33% 64% © 36% ® 72%
48. Which of the following treaties provided for a common currency for the member countries of European ©
community?
®) Brussels Treaty Geneva Convention © Maastricht Treaty © Treaty of Versailles
49, 'To lose heart' means:
(@) To have a heart attack To lose courage © 7o fall in love ® To lose passion
50. The invigilator made us — our identity card at the test center.
® showing show © showed © to show
51. Everything is going well. We -— any problem so far. ©
® didn't have don't have © haven't had ® aren't have
52. Choose the correct indirect speech from the following option: The Daily Star says, "We shall publish an @

article on cause of cancer in our Thursday's paper".

® The Daily Star says that it will publish an article on cause of cancer in their Thursday's paper.
The Daily Star says that they will publish an article on cause of cancer in their Thursday's paper.
© The Daily Star said that it will publish an article on cause of cancer in its Thursday's paper.

© The Daily Star says that it will publish an article on cause of cancer in its Thursday's paper.

53. Which word is in plural form? ©
® Analysis Matrix © Nuclei ® syllablus
54. Meat in the diet is healthy, despite what some people say. After all, most doctors do eat meat and who @

knows more about health than doctors do? Which of the following, if true, most seriously weakens the
inference above?
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Taking for granted that experts do not act counter to what, according to their expertise, in their best interest
argument

Gerneralizing on the basis of a sample consisting of a typical cases

© Assuming at the outset what the argument claims to establish through reasoning

© Appealing to authority, even when different authorities give conflicting advice about an issue.

55. Karim has more books than Rahim but less than Hasan. If the number of books that Karim, Rahim and ©
Hasan have respectively is p, q and r. Then which of the following is true?
®f<p<q P<1‘<C] ©C]<p<l" @q«:r-v.:p

56. In the following question, various terms of an alphabet series are given with one term missing as shown by @
(?). Choose the missing term out of the given alternatives: AZ, GT, MN, ?, YB.

® Kr RX © SH ® TS

57. A group consists of six members A, B, C, D, E and F. There are two housewife, one professor, one
engineer, one accountant and one lawyer in the group. There are two married couples among the members
of the group. D is a housewife and she is married to a lawyer. No woman in the group is either an
engineer or an accountant. C is an accountant and married to F who is a professor. A is married to a

housewife. How many males are there in the group?
® 2 3 © 4 ® 5

58. In a magic show, only the people with a height below six feet are seated in the first row. Which of the @

following must be true, if Saif is asked to sit in the second row?

® shorter people cannot enjoy magic from the back row.

Saif prefers a seat in the second row to sit in the first row.

© Performance of the magician is affected in the people in the first row are over taller than six feet.
® Saif is over six feet tall.

59. Six members of a family A, B, C, D, E and F are travelling together. B is the son of C but C is not the ©
mother of B. A and C are the married couple. F is the brother of B. How many male members are there in
the family?

® 1 ® 2 © 3 © 4

60. In the past year, there has been a large drop in the member of new cars sold due to harsh economic @
conditions in the market place and high taxes. At the same time, the average price paid for a new car has
risen dramatically. Which of the following, if true, best explains the increase in the average price of a new

car?

@) The price of used car has climbed steadily over the past ten years.
There will be tax reduction later in the year which is expected to aid moderate and low income families.
© The market for expensive car has been unaffected by the current economic conditions.

®© Economic conditions are expected to get significant worse before the end of the year.
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61. In case Nicholas and Antonio share dinmer duty on Monday of the same week and if Antonio and Jeremy @
share dinner duty on Thursday of the same week. Which of the following would be true for that week?

@) Jerry is on dinner duty alone on Wednesday. Nicholas and Jeremy share difner duty on Wednesday.
© Nicholas is on duty alone on Tuesday and Antonio is on breakfast duty alone on Wednesday.
© Jeremy is on breakfast duty alone on Tuesday, and Nicholas is on breakfast duty alone on Wednesday.

62. The door of my house is toward east. From the backside of my house 1 drove straight 100 meters. Then @
turned right and drove for 100 meters and then turned toward left and drove 50 meters and reached my
destination. In which direction am I from the starting point?

() North-west South-west © East ® West

63. L is older than M and taller than N. O is younger than P, older than N and shorter than Q. R is older than @
S, younger than N, shorter than S and taller than Q. S is older than L, M, O, P, Q, R and § is necessarily
false?

@) © is the shortest of the group. N is the second tallest of the group.  © L is the tallest of the group.
© Q is the third oldest of the group.

64. One copy machine can make 20 copies a minute, and a second copy machine makes 15 copies a minute. If @
the two copies work together, how long would it take them to make 2100 copies?

® 60 minutes 105 minutes © 122 minutes ® 140 minutes

Corruption deepens poverty by distorting social and economic development and disrupting the provision of essential
public services. It also hurts democracy by undermining the principles of fair play and justice. Instead of contracts
being awarded on the basis of fair competition relying on price, quality, and irmovation, they are awarded as a result
of competitive bribery. The consequences are dire. Investors keep away and trade suffers.

Transparency International (TI) defines corruption as the use of public office for private gain. Decisions are made not
for public benefit but for private interests. Costs Incurred are high and prestigious projects are favored - over cost-
efficient development projects. Access to basic social and economic rights such as education, 3medical care, adequate
shelter, and clean water are jeopardized. The environment is threatened and human rights abuse flourishes. When .
corruption increases, regimes become more secretive, less tolerant of; dissent and more fearful of the loss of power. Tl
believes that the stamping out of corruption is not the responsibility of any one agency but the responsibility of all
parties concerned. Every section of society must pitch in because corruption affects everyone, especially the poor. The
government, non-governmental organizations, members of society as well as the local and international business
communities must work together if corruption is to be combated at all levels. As a first step, TI ropes in governments
to set up chapters in countries. The function of The search national chapter is to seek. consensus and bring about
systematic reform at both national and international levels. The media is also brought into the picture as one of the
primary aims of each chapter is to raise public awareness. T1 does not believe in broadcasting names or attacking
individuals but on the building. systems that combat corruption.
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1. what 1s the meamng of the phrasal verb 'rope 111 written in bolda i the last paragrapii? \~/

@ compel withdraw © persuade ® coerce
2. what does TI suggest for fighting against corruption? @
(®) Developing a system to fight against corruption Identifying corrupted individuals and penalize them

© Establishing powerful committees to take action against corruption
(©® Empowering mass people to protest against corruption

3. How does corruption deepen poverty?

@ The poor are totally ignored while taking project decisions . The poor are deprived of the basic amenities .
© Money is channeled away to fund more prestigious projects .
© Cost - efficient development projects are not carried out .

4. Which is the most powerful tool that can ensure success in the efforts of TI?
®) The mass media The government machinery © The masses of people ©® The Anti Corruption Commission

5. Which of the following is not an effect of corruption? @

®) Development of competitive business environment Deepening of poverty  (© Weakening of democracy
(® Destruction of natural environment

® © ©
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